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. i . . d,
1. Multiple choice (circle the correct answer): P l/(7
e The relation that is also a function is: ‘
a) x*+y?=25 f(X) = x? c) (V2 =&_ d) g(x) =+V/x F\La
i | _
Circle Parqbola ,3 :+‘f)‘- \
_r(.n (-N=(-) Given f(x)=x*—x+3, then:
e a) f(-1)=-5 b) f(-1)=1 O f(D=-1  G\f(D=5
]
e The range that best corresponds to f (X) = 1 is: 70(’6) = G-L@ rQ{*j’e
X+3
a) {yeR,y=3} b) {y e R} c) {yeR,y=-3} @({yem,y¢o}
G e If f(X)==x-8,then the proper equation of its inverse is:
¥+% = J
2 a) y=—1x+8 b) x:ly—8 @&‘1(x):2(x+8) d) f*(x)=2x+8
_2(x+%) z z
OE(.X)":Q (-BC-(-?) e For the graph of f(x) = NS identify the transformation that would not be applied to f (x) to
obtain the graph of y =2f (—2x) +3: .
\woritortel
a) Vertical stretch by a factor of 2 Vexical reflection
c) Vertical translation up 3 units d) Horizontal compression by a factor of %

The range of f (X) =—v/X—2 is: f(“) m

a) {yeR,y<2} b) {yeRy>0} @\{yem,ygo} d) {yeR0<y<2}

2. Determine if each relation represents a function, then state its domain and range:

W IN|kF | O|X
1

Function? (yes X repert Function? ggs)/ no)

D:i

11,35 D: 7,1,2,3)

R:

15 0,%,8} R: J-4,8,1%

1|Page



MCR3U1 Chapter 1 REVIEW Date:

3. Consider the parent function f (x) = \/; . Write the equation of the function after the following

transformations: a horizontal reflection, a vertical stretch by a factor of 2, and a vertical translation 4 units
up. Use the notation g(x) for the new function.

Gx) =Q\f7 +y

\c* bor”

4. If g(x):%(x—4)2—l, X < 4, determine:

a) the equation of its inverse, g ~(X) b) 97(7)

x=_g_(9-u)1—l 3"(?);‘2(7.4_:) +
Q_(X+|)__.Il(3-q)".1 =27 +y
\Ezcm :W 8 )< - [2e41) 44 ==y +Y

- 26y =y-u é’-{(?)—_ 0

- Y =Y

5. The graph of h(x) is shown below.

a) Graph h™(x) on the same grid then state its domain and range.

- ~C1,4) = A(y!)
B(32)— B(23)
C(ﬂ“’u)_:’ d('LhT)

r_‘ Domain of h™(x): {x é&l y>/ -L_(}

% . Range of h™(x): {(Ljé R}

........................ Yl
-9.-8-1.-6-5-4-3-2-141.1.2 33 5.6.7/8.9.101112 13 14 15

C

R

-Ih(ﬂoﬁ\l Noje)

= = Nfw

c'in.:;wm
T

a) Is h™(x)a function? If yes, justify. If not, state the restriction on the domain of h(x) such that
both h(x) and h™*(x) would be functions.

No) ble it doe not pav VLT
Regta ction (D,{x—ékl X\<5j o D: {YéZ{ X>’5j
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Q N \Lf-\i/'\ d13/3 (d

6. a) The graph of f(x)isshown below. Sketch the graph of g(x):2fEX—3) +0 ;.
gyt
(%,9) —*“(‘,;*d) y)
(xY) — (X +3/25+O)
A(-2,9) — A'(143,20)= (1,9
3 B(0,2)- g'(0+3,2-2)__.(31q)

_iﬁ \2/ \ C(g'-l)-acl(3+3,2rl+cj:(b'-q}

b) Write the mapping notation of the point (x, y)on f (x) transformed into its image point on g(x):

(X’ y)—_)( ) )

%9) (x5 3y )
7. Sketch each relation on the grids provided. State the domain and range of each: ( ’-9) X LT) Sj

gw+ otey -5 A(Oo) ._Q(-S, 0)
QI_ X#G /—ﬁ D (~-5‘3[ (q
a) f X) =3 - (X+ LI)=>B
) (x) = (4 jO\j” \ | b) g(x) =3y-(x+5) ng X '-q, 6) )

6‘:‘9) —> ( X q = [ ~

/ y 7
ACI, f) - A (H‘n‘ ‘?l-me 8 :{ otx)

A (b, 6) 6 |

p471) P = e ey

. Bl d
;l (-l‘l'q} 2(_0.‘,(') 2 m : Xk ’\] /‘B/’/-.;
i - - -

5\

N B O
o

8 B A4 e 2. 4\ 6 8 8. -6 -4 2P PSRN S S
E,‘(q]'z,] 2 2
4 4
6 ! 6
8 '. 8
D: {xé&l xiy"?_g | D:{Xézl xé-"vj

? {aeakdﬁ;% “ 2 9| 920,
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c) h(x) :%(x+2)2 +2

y X<

ko W)=Y,
N-1p)= 3, 25)
(00 »(2, 2| Txe 02

R: Z3£2| 3>/ 2}

[
2
(x&)-a (x-z,%n 4
6
8

Chapter 1 REVIEW

Date:

: 19dx 4~
d) k(x)=—\/5+5 1t
(M) (2x)-gPY 9
(00->(0,5) | & L

(h)2(2,4) 4
(4,1-)—7(8’,3} G

B b A2

2
-4
6
8

D: {xé£| ><>/C_’3
R {J€2| 345‘}

9. State the parent function f (x) and the equation of each of the graphs below, g(x) and h(x), after

the transformations applied to the parent function.

3N s §
(P = (7€) (6) so Sy
(O,‘O) - (({; ?') 4 \ X \\g R
i, 1) —> 7 I / 2.4 6 8 N 12 14x" -8 -6 -4 \f\ o (-)é+d) ka)
: NERCEEICE
(eu) D (6, & 4 ' '
% ) - a4 (1) 2(-2)
%4_ y= 6 2
Yg +1-=4 ' —t-+0=‘7-
Z_.2 =
2 f(X)ZL =" f(x)= & 1.2
el “U (x-) 47 @
-1 SRl
0= n= A7 X ~Y

Y= af [ttt
= :!-_\I- (Y "‘i)z-'f-?"
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